[image: image1.png]> Oblicz:

logs 9 log, 0,5 log; V5 log 100 log v/1000
logs + log, 4 logy 1 log0,1 logs 0,04
> Oblicz:

logy 2 logg; 0,25 log 55 log 5 3 Ine?

logy 9 logy H log 59 Ine Inye
logo; 1

> Oblicz:

logs2vZ  logz9v2T  logsZ  log 10¥T0

> Oblicz:
log,8  logys5  log 5100 log, 54

> Oblicz:
5log; 3 721087 6 9510853 42+log, T

> Rozwiaz réwnania:

logyz=3  loggsz=4  loglz—3)=-1  logsa®=0  lnz=-2

> Rozwia? réwnania.
log; (logy @) = 0 log, (logy ) = 0 In(lnz) =0
log, (log, ) 1 logs(logs = +7) = 2

Rozwig? réwnania:
> 2+ logg(2e+ 1) = logs (50 +22) > logs(z — 1) — logs(dz + 1) = log; 252
> logy (e + 1) + logy(z +3) = 3

Rozwiaz réwnania:

> logzz +logg z +logg; o =7 > 2logy(x — 2) + 3logg(x+2) =5

Rozwia? nieréwnosci:
> logy(x — 3) > 2 > logs(2z — 7) < 2 — logy (8 — @)
> logos(3r—2) > —1 > logy(4z+1) > —2 — logy (2z — 3)




